


‘A’ began business with ` 45,000 and was later

joined by ‘B’ with ` 54,000. When did B join if

the profit at the end of the year were divided in

the ratio 2 : 1? ‘A' ने ₹ 45,000 के साथ व्यवसाय शुरू

ककया और बाद में ‘B' ₹ 54,000 के साथ जुड़ गया। यकद

वर्ष के अंत में लाभ को 2:1 के अनुपात में कवभाकजत ककया

जाता है, तो B कब शाकमल हुआ?

(a) 5 months after (b) 10 months after (c) 7 months

after (d) 12 months after (e) None of these





A.48 
B.44
C.40
D.33



Mr. X invested a certain amount in Debtand Equity Funds in

the ratio of 4 : 5. At the end of one year, he earned a total

dividend of 30% on his investment. After one year, he

reinvested the amount including the dividend in the ratio of 6

: 7 in the Debt and Equity Funds. If the amount reinvested in

Equity Funds was ` 94,500, what was the original amount

invested in Equity Funds? कमस्टर एक्स ने डेट और इकक्वटी फंड में

4:5 के अनुपात में एक कनकित राकश का कनवेश ककया। एक वर्ष के अंत में,

उसने अपने कनवेश पर कुल 30% का लाभांश अकजषत ककया। एक वर्ष के

बाद, उसने लाभांश सकहत राकश को 6:7 के अनुपात में डेट और इकक्वटी

फंड में पुनकनषवेश ककया। यकद इकक्वटी फंड में पुनकनषवेश की गई राकश ₹

94,500 थी, तो इकक्वटी फंड में कनवेश की गई मूल राकश क्या थी? (a) `

75,000 (b) ` 81,000 (c) ` 60,000 (d) ` 65,000 (e) None of these












